(

)



Ctrl

Ctrl



Pp/2




@ 30.00

(o 0.00
(S] 0.00
e} 30.00
Se 15.00
Kh 0.24
(SH -1 h 9, 13.50
)
Ka=AL/[A2*{1+~/(A3/A4)}?]
Al= cos’(p-©)
= cos ?( 3000 - 0.0 ) 0.750
A2= cos’O *cos (O +S)
= cos2 000 * cos (000 + 30.00 ) 0.866
A3=sin(@@+d)*sin(-a)
@-a<0 sin @-aoa =0
@-a= 3000 - 0.00 30.00
@-oa 30.00
= sin (3000 + 30.00 )* sin 30.00 0.433
Ad=cos(O+D)*cos (O -a)
= cos( 000 + 3000 )*cos( 000 - 000 ) 0.866
Ka= 0750 /[ 0866 *{1+~( 0433 / 0.866)}2] 0.297
)
Kea=Al'/[A2' *{1+~/(A3 /A4 )}?]
Al'= cos?(-6,-6)
= cos ? ( 3000 - 1350- 0.00 ) 0.919
A2'= cos ©,* cos O *cos (O + O, + Se)
= cos 1350 * cos? 0.00 * cos( 0.00 + 1350+ 15.00) 0.855
A3 =sin(p+de)*sin(p-aoa-6,)
@ a B6,<0
SN a 6, 0
@ o O, 3000 - 000 - 1350 16.504
A3'= sin (3000 + 1500 )*sin( 3000 - 000 - 1350 ) 0.201
Ad=cos(O+O;+de)*cos (O -a)
= cos( 000 + 1350+ 1500 )*cos( 000 - 000 ) 0.879

Kea= 0919 /[ 0855 *{1+~/( 0201 / 0879)}?] 0.492



ysat
YSwW
KH'
KH {(y*h+wysat*hw)/ (y *h+ysw*hw)}*KH

Y *h+wysat*hw 18000 * 0.700 + 19.000 * 2.200
Y *h+wysw*hw 18000 * 0700 + 9200 * 2200
KH' { 54400/ 32840} * 0.240

O, tan-1 H' ' 0.398

Kea'= AL'/ [A2 * {1 +~/(A3' /A4 )}?]
Al'= cos?(-6,-6)
= cos 2 ( 3000 - 21703 - 0.000 )
A2'= cos B, * cos O *cos (O + O, +Se)
= cos 21.703 * cos 2 0.00 * cos( 0.00 + 21703 + 15.000)

A3'

sin(¢p+de)*sin(-a-6,)
¢ a 6
SN @ a 6 0
@ o O, 3000 - 000 - 21703
A3'= sin (30.00 + 1500 )*sin( 30.000 - 000 - 2170 )
Ad=cos(O+O,+Se)*cos (O -a)
= cos ( 000 + 21703+ 1500)* cos( 000 - 000 )

Kea'= 0979 /[ 0745 *{1+~/( 0102 / 0802)}?]

18.00 kN/m3
19.00 kN/m3
9.20 kN/m3

0.700 m
2200 m

54.400

32.840

0.398

21.703

0.979

0.745

8297 =
0.102

0.802

0.714



®/3




®
(@ ¢
>
oe
Kh
o, -1 h 9,
)
Ka=AL/[A2*{1+~/(A3/A4)}?]
Al= cos?®(@- )
= cos 2( 3000 - 0.0 )
A2= cos? *cos( +O)
= cos? 000 * cos (000 + 1000 )
A3=sin(@@+d)*sin(-a)
@-a<0 sin @-aoa =0
@-a= 3000 - 000
@-a

sin (3000 + 1000 )* sin 30.00
Ad

cos( +d)*cos( -a)

cos ( 000 + 1000 )*cos( 000 - 000 )

Ka= 0750 /[ 0985 *{1+~/( 0321 / 0985)}?]

)
Kea=Al'/[A2' *{1+~/(A3 /A4 )}?]
Al'= cos?(@-6,- )
= cos?( 3000 - 909 - 000 )
A2'= cos ©,*cos? *cos( +O,+Se)
= cos 9.09 *cos? 000 * cos( 000 + 909 + 0.00 )
A3 =sin(p+de)*sin(p-aoa-6,)
@ a B6,<0
SN a 6, 0
@ o ©, 3000 - 000 - 9.09
A3'= sin (3000 + 000 )*sin(3000- 000 - 9.09 )
Ad'=cos( +O,+De)*cos(i-oa)

cos( 000 + 909 + 000 )*cos( 000 - 000 )

Kea= 0873 /[ 0975 *{1+~/( 0178 / 0987)}?]

30.00

0.00

0.00

10.00

0.00

0.16
9.09

0.750

0.985

30.00

30.00

0.321

0.985

0.309

0.873

0.975

20.910
0.178

0.987

0.441



ysat
YSwW
KH'
KH {(y*h+wysat*hw)/ (y *h+ysw*hw)}*KH

Y *h+wysat*hw 18600 * 3.600 + 19.600 * 0.600
Y *h+wysw*hw 18600 * 3600 + 9.800 * 0.600
KH' { 78720/ 72840} * 0.160

0, tan-1 H' ' 0.173

Kea' = Al' / [ A2 * {1+ /(A3 / Ad')}?]
Al'= cos’ (@ -6y - )
= cos?( 3000 - 9.815 - 0000 )

A2'= cos ©, *cos? *cos( +6, +Se)

= cos 9.815 *cos? 000 * cos( 0.00 + 9815 + 0.000 )

A3'

sin(¢p+de)*sin(-a-6,)
¢ a 6
SN @ a 6 0
@ o O, 3000 - 000 - 9815
A3'= sin (30.00 + 000 )*sin( 30.000- 000 - 982 )
Ad'=cos( +Oy+Se)*cos( -a)

= cos( 000 + 9815 + 000 )*cos( 000 - 000 )

Kea'= 0881 /[ 0971 *{1+~/( 0173 / 0985)}?]

18.60 kN/m3
19.60 kN/m3
9.80 kN/m3

3.600 m
0.600 m

78.720

72.840

0.173

9.815

0.881

0971

20185 =
0.173

0.985

0.451
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(S]
31
>S2
Sel =
Se2 =
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P
o
(S]
Sl
2
Sel
oe?
Kh
(SH -1 h O,
)
Kal=Al/[A2*{1+~/(A3/A4)}?]
Al= cos’(q-©)
= cos 2( 3000 - 0.0 )
A2= cos’ O *cos (O +S1)
= cos? 000 * cos (000 + 30.00 )
A3=sin(@+dl)*sin(p-oa)
@-a<0 sin @-aoa =0
@-a= 3000 - 0.00
Q-
= sin (3000 + 3000 )* sin 30.00
Ad=cos(O+Dl)*cos (O -a)
= cos( 000 + 3000 )*cos( 000 - 000 )
Kal=0750 /[ 0866 *{1+~/( 0433 / 0.866)}2]
)
Ka2 = A1/ [A2*{1+~/(A3/A4)}?]
Al= cos®(e- )
= cos 2( 3000 - 0.0 )
A2= cos? *cos( +32)
= cos? 000 * cos (000 + 10.00 )
A3=sin(@+d2)*sin(e-a)
@-a<0 sin @-aoa =0
@-a= 3000 - 0.00
Q-

sin (30.00 + 10.00 )* sin 30.00
cos( +dO2)*cos( -a)

cos ( 000 + 1000 )*cos( 000 - 000 )

Ad

30.00
0.00
0.00
0.00

30.00

10.00

15.00

0.00

0.24
13.50

0.750

0.866

30.00

30.00

0.433

0.866

0.297

0.750

0.985

30.00

30.00

0.321

0.985



Ka2=0750 /[ 0985 *{1+~/( 0321 / 0.985)}2] 0.309
)
Keal = Al'/ [A2' * {1 +~/(A3 / A4')1}?]
Al'= cos?(-6,-6)
= cosz( 30.00 - 1350- 0.00 ) 0.919
A2'= cos ©,* cos O *cos (O + O, + Sel)
= cos 1350 * cos? 0.00 * cos( 0.00 + 1350+ 15.00) 0.855
A3 =sin(p+del)*sin(p-a-060,)
@ a B6,<0
SN a 6, 0
@ o O, 3000 - 000 - 1350 16.504
A3'= sin (3000 + 1500 )*sin( 30.00 - 000 - 1350 ) 0.201
Ad'=cos(O+O;,+Sel)*cos (O - a)
= cos( 000 + 1350+ 1500 )*cos( 000 - 000 ) 0.879
Keal=0919 /[ 0855 *{1+~/( 0201 / 0.879)}2] 0.492
)
Kea2 = Al'/ [A2' * {1 +~/(A3 7/ A4')1}?]
Al'= cos?(@-6,- )
= cosz( 30.00 - 1350- 0.00 ) 0.919
A2'= cos ©,*cos? *cos( +O,+Se2)
= cos 1350 * cos? 0.00 * cos( 0.00 + 1350+ 0.00 ) 0.946
A3 =sin(p+de2)*sin(-a-06,)
@ a B6,<0
SN a 6, 0
@ o O, 3000 - 000 - 1350 16.504
A3'= sin (3000 + 000 )*sin( 3000 - 000 - 1350 ) 0.142
Ad'=cos( +Oy+de2)*cos( -aA)
= cos( 000 + 1350+ 000 )*cos( 000 - 000 ) 0.972
Kea2=0919 /[ 0946 *{1+~/( 0142 / 0.972)}2] 0.508



ysat
YSwW
KH'
KH {(y*h+wysat*hw)/ (y *h+ysw*hw)}*KH

Y *h+wysat*hw 18000 * 2.200 + 19.000 * 4.650
Y *h+ysw*hw 18000 * 2200 + 9200 * 4.650
KH' { 127.95(/ 82380} * 0.240

0, tan-1 H' ' 0.373

)
Keal' = Al'/ [A2' *{1+~/(A3 /A4)}?]
Al'= cos?(-6,-6)
= cos ?( 3000 - 20456 - 0.000 )
A2'= cos B, * cos ‘O *cos (O + B, +Sel)
= cos 20.456 * cos > 0.00 * cos( 0.00 + 20456 + 15.000 )

A3 =sin(@+Sel)*sin(p-o-06y)
P o Oy
SN @ o 6 0
@ o O, 3000 - 000 - 20456
A3'= sin (30.00 + 1500 )*sin( 3000 - 000 - 2046 )
Al =cos(O+O,+del)*cos (O -a)
= cos ( 000 + 20456 + 15.00)*cos( 000 - 000 )

Keal'=0973 /[ 0763 *{1+~/( 0117 / 0815)}?]

)
Kea2' = Al' / [ A2 * {1+ /(A3 / A4 )}?]
Al'= cos? (-6, - )
= cosz( 30.00 - 20.456 - 0.000 )
A2'= cos B, *cos? *cos( + O, +Se2)

= cos 20456 * cos? 0.00 * cos( 0.00 + 20.456 + 0.000 )

18.00 kN/m3
19.00 kN/m3
9.20 kN/m3

2200 m
4650 m

127.950

82.380

0.373

20.456

0.973

0.763

9544 =
0.117

0.815

0.671

0.973

0.878



A3 =sin(@+de2)*sin(-o-06y)

P o Oy
SN @ o 6 0
@ o O, 3000 - 000 - 20456 9544 =
A3'= sin (3000 + 0.00 )*sin( 30.000- 000 - 2046 ) 0.083
Ad'=cos( +O,+de2)*cos( -a)
= cos( 000 + 20456+ 0.00 )*cos( 000 - 0.00 ) 0.937

Kea2'= 0973 /[ 0878 *{1+~/( 0083 / 0937)}2] 0.658



0 05

o® 30.000 =
( :999999) 999999
(o [0000 )
(S) 0.000 =
o) 10
oe 0
0.24
@/3
0
( ) 2,650 m
( ) hw 1.950 m
v I
Ys 18.00 kN/m3
ysat 19.00 kN/m3
YSW 9.20 kN/m3

- KN/m2




()

e 0+( ea- a)
e
0
ea
a
(SN -1 h
)

Ka=AL/[A2*{1+~/(A3/A4)}?]

Al= cos’(e- )
= cos?( 3000 - 000 )

A2= cos® *cos( +S)
= cos? 000 * cos( 000 + 1000 )

A3=sin(¢p+d)*sin(-a)

@-a<l sin @-o =0

@-o= 3000 - 0.000

= sin( 3000 + 1000 )* sin 30.000

Ad=cos( +dO)*cos( -a)

= cos( 000 + 1000 )*cos( 000 - 0000 )

Ka= 0750 /[ 0985 *{1+~/( 0321 / 0985)}?]

0.5

30
0.000
0.00

10.00

0.00

0.24
13.496

0.750

0.985

30.000

30.000

0.321

0.985

0.309



)

Kea=Al'/ [A2 *{1+~/(A3 /A4)}?]
Al'= cos?(@-6y- )

A2'

A3'

A3'
A4'

cos®( 30.00 - 13496 - 000 )
cos O, * cos® *cos ( + Oy+ Se)
cos 1350 * cos 20.00 * cos (0.00 + 13.496 + 0.00 )
=sin(@+Oe)*sin(@-oa-6,)

@ o ©6;<0
SN o 6, 0
@ o 6, 3000 - 0000 - 13.496
sin ( 30.00 + 0.00 )*sin( 30.00- 000 - 1350 )
=cos( +HOy+Se)*cos(i-a)

cos( 000 + 1350+ 000 )*cos(0.00 - 0.00 )

Kea= 0919 /[ 0946 * { 1+ /(0142 / 0972)}?]

KH'

e

= 0+( ea- a)
=0500 + (0508 - 0309 )

Y
Yy sat
Y SW

KH'
{(y*h+wysat*hw +q )/ (y *h+ysw*hw+q')}*KH

" ( )

v*h+ysat*hw+q 1800 * 0700 + 1900 * 1950 + 0.00

Y *h+ysw*hw+q 1800 * 0700 + 920 * 1950 + 0.00

KH'

{ 49.650 / 30540} * 0.240

6, tan-1 H' ' 0.390

0.919

0.946

16504 <
0.142

0.972

0.508

0.699

18.00 kN/m3
19.00 kN/m3
9.20 kN/m3

0.700 m
1.950 m
0.00 kN/m2

49.650

30.540
0.390

21.306



Kea' = Al' /[ A2 * {1+ /(A3 / A4 )}?]
Al'= cos? (@ -6, - )

A2'

A3'

A3'
A4’

@ a 6
SN @ o 6

@ a 6y 3000
= sin( 30.00 + 0.00
cos( +Oy+de)*cos( -a)

cos( 000 + 21306 + 0.00 )*cos( 0.0

0

- 0.000
) * sin ( 30.00 - 0.00

cos®( 30.00 - 21306 - 0.000 )

cos Oy *cos? *cos( + O, +Se)
€0s21.306 * cos 20.00 * cos( 0.00 + 21306 + 0.00 )
=sin(@+de)*sin(@-a-6y)

- 21.306

- 2131 )

- 0.00

Kea'= 0977 /[ 0868 *{1+~/ (0076 / 0932)}?]

e

= 0+ ( ea
=0500 + ( 0.681

- a )
- 0.309

)

)

0.977

0.868

8.694
0.076

0.932

0.681

0.872



o® 30.000 =
( :999999) 999999
(o [0000 )
() 0.000 =
oe 0
KH = 0.24
0
( ) 2,650 m
( ) hw 1.950 m
VS = 18.00 kN/m3
ysat = 19.00 kN/m3
VYSW = 9.20 KN/m3



o, -1 h

)

Kea= ALl /[ A2 * {1+ /(A3 /A4 )} ]

Al'= cos? (e - O, -

)

= cos ?( 3000 - 1350 - 000 )

A2 = cos O, *cos® *cos( +O,+Se)

= cos 13.50 * cos 2

A3 =sin(p+de)*sin(ep-a-0,)

SINep o 6,

sin ( 30.00 + 0.00

cos( +O,+de)*cos(i-a)

A3'
A4

Kea= 0919 /[ 0946

@ a ;<0

0

cos( 000 + 1350+ 0.00

{1+ (

- 000
)*sin( 3000 - 000 - 1350 )

- 1350

)*cos( 000 - 0.00

0142 / 0972))2]

oe
Kh
ST

000 * cos( 000 + 1350+ 000 )

)

0.5

30

0.000

0.000

0.00

0.24
13.496

0.919

0.946

16.504
0.142

0.972

0.508



V3 18.0 kN/m3
ysat 19.0 kN/m3
AV 9.2 KN/m3
KH'
KH*  (wysh+wysat hw+qg") / (ysh+ yswhw+q") * KH

0.700 m
( 1.950 m
g ( 0.00 kN/m2
Y* h +ysat * hw 1800 * 0700 + 1900 * 195 + 0.000 49.650
Y* h +ysw * hw 1800 * 0700 + 920 * 195 + 0.000 30.540
KH' { 49650 / 30540 } * 0240 0.390
6, tan-1 H ' 0.390 21.306

Kea' = AL' / [ A2 * {1+ /(A3 / A4')}?]
Al'= cos? (@ -6y - )
= cos ? ( 30.00 - 21306 - 0.000 ) 0.977
A2'= cos O, *cos? *cos( +O, +Se)

= cos 21306 *cos? 0.00 * cos( 000 + 21.306 + 0.00 )

0.868
A3 =sin(p+de)*sin(p-a-0,)
® o 6
SN ¢ o 6/ 0
@ o O, 3000 - 000 - 21.306 8.694 =
A3'= sin( 3000 + 000 )*sin( 30000 - 000 - 2131 ) 0.076
Ad'=cos( +O,+de)*cos( -a)
= cos( 000 + 21306 + 000 )*cos( 000 - 000 ) 0.932

Kea'= 0977 /[ 0868 *{1+~/( 0076 / 0932)}2] 0.681
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